In the power aware placement, the cost function will be written as:

Cost = bounded_box_cost + timing_cost + power_cost.

Power_cost = static_power + dynamic power.

Where timing cost and static power cost is location dependant. The estimation of static power is presented in the last report. Dynamic power is estimated as:
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where q(i) is scale factor depending on the number of pins of the net, and activity(i) can be obtained from Psim. During variation aware placement, the cost change for each swap is computed as:
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where λ1+λ2+λ3=1. During placement, we can adjust λi, to get the best timing and power tradeoff.
The implementation plan is:

1. Change the placement in VPR to consider leakage power. The leakage power variation map generation has been done. 

2. Consider dynamic power during placement. Assume dynamic power is not location dependant, i.e., it is not affected by process variation. We will use the same method as Steven’s paper.
The estimated time to implement the first step is about 1 week and the second step will take about 10 days.
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